AnnualSelf-AssessmentfortheperformanceBasedAppraisalSystem(PBAS)

$Session/Year\ 2022-23$ (Tobecompleted and submitted at the end of each academic year) PARTA: GE

NERAL INFORMATION

1. Name(Blockletters) : SUKLA BANERJEE

2. Father's/Mother'sname/Husband'sname : KALYAN BANERJEE

3. Department : BENGALI

4. Current Designation & Grade Pay : ASSISTANT PROFESSOR STAGE -1

5.Grade Pay :RS.6000

6. DateoflastPromotion :N.A

7. Addressfor correspondence (withpin code) : C/O-DEBABRATA MUKHERJEE

PO +VILL-RAMNAGAR, DIST.BIRBHUM. W.B. PIN- 731234

8. PermanentAddress (With Pin Code): C/O-KALYAN BANERJEE,VILL+P.O- KURUMSAHA Dist —BIRBHUM. PIN-731201

TelephoneNo.:9474699511/9064448074

E-mail: suklabanerjeechumki@gmail.com

- 9. Academic Staff College Orientation/Refresher Courseattended during the year: n.a
- 10.DateofAppointment 20/02/2020

PartB:AcademicPerformanceIndicators (API)

CATEGORY1: TEACHING, LEARNING AND EVALUATION RELATED

a) Directteaching (16/14) hoursperweek asapplicable) IncludingLectures, Tutorials,Practical,Project Supervisionand Field work

CATEGORY1: TEACHING, LEARNING AND EVALUATION RELATED

ACTIVITIES

SI. No.	Course/Paper	Level	Mode of Teaching*	Actual hours spent per Acade mic Year	Actual Score (Actual hours spent per Academic Year ÷7.5 for Assistant Prof. & ÷7.75 for Associate Prof.)
1.	B.A.SemesterI,II Papers-I,II	Gen.	L/PS	56.00 Hours	56÷7.5=7.46
2.	B.A.Semester III, IV, SEC I,II, PAPER- III,IV, LCC-II	Gen.	L /P.S	85.00 hours	85÷7.5=11.33
3.	B.A.Semester- V,VI Paper-GE-I,II SEC-III,IV, DSE-II,	Gen.	L /P.S	28.00 hours	28÷7.5=3.73
4.	B.A.Semester I,IIPapers- I,II,III,IV	Hons	L /P.S	170.00 hours	170÷7.5=22.66
5.	B.A.,Semester III, IV	Hons	L /P.S	141.00 hours	141÷7.5=18.8

	Papers IV,V,VI,VII,VIII ,IX SEC I			
6.	B.A.Semester- V,VI Papers-XI, XII, XIII, XIV, DSE- I,II,III,IV	ons L/P.S	141.00 hours	141÷7.5=18.8
	Total	l	621 hours	621÷7.5=82.08

^{*} Lectures, Tutorials, Practical, Project Supervisionand Field Work

b) Examination duties (question paper setting, evaluation of answer scripts) as per allotment

Sl. No.	Type of Examination Duties	Actual hours spent per Academic Year	ActualScore(Actual hours spent per Academic Year ÷ 10 for allTeachers)
1.	Invigilation	100 Hours	100÷ 10=10
2.	Question Paper Setting	50 Hours	50÷ 10=05
3.	Evaluation of Answer Scripts	174 Hours	174÷ 10=17.4

(c) Innovative teaching • learning methodologies; updating of subject content/course, mentoring etc.

- (a) UpdatingofCourses/CurriculumDesign:
- (b) Participation/Innovative-Interactivecourses:
- (c) Participation. /Innovative-LearningModules
- (d) Participation./Innovative-CaseStudiesprepared:
- (e) UseofICTorComputer-aidedmethods- ppt:
- (f) UseofICT-Multi-media/Simulationetc:
- (g) Dev/TeachingRemedial/BridgeCourses:
- (h) Dev/TeachingSoftskill/Communication/PersonalityDev:
- (i) SpecialProgramsinPhys.nd./Library:
- (j) InnovativeComposition/Creationin Music,FineArts,PerformingArts:
- $(k) \qquad Organizing \& cond. of popular Programmed/Teaching Web-based/E-Library/IT-asstteach \\$

Sl. No.	Short Description (in terms of items) as listed above	Actual hours spent per Academic Year	Actual Score (Actual hour spent per academic Year/10)
1.	CurriculumDesign	60 HOURS	60÷ 10=06
	Use of ICT or Computer- aided methods –ppt:	40 HOURS	40÷ 10=04

CATEGORY•III:RESEARCHANDACADEMICCONTRIBUTION

• FDP/RC/STC/OP/TRAINING PROGRAMME/ WORKSHOP ATTENED

SL	NAME OF	COURSE NAME	DURATION	Verification
NO	TEACHER			YES/NO
1	SUKLA BANERJEE	FIP University Grants commission sponsored Human resource development centre,	10th faculty induction program from 9th November 2022 9th December 2022 and obtained grade A+	YES/NO
		Jadavpur University Kolkata		

III(A)Research PapersPublished in

- -RefereedJournalsasnotifiedbyUGCin'ListofJournals' -25/publication
- -OtherReputedJournalsasnotifiedbyUGCin'ListofJournals'-10perpublication

$III(B) Publications other than journal articles (books, chapters in books) as prescribed in \ UGC \ Regulation \ 2016.$

• Text/ReferenceBookspublishedbyInternationalPublisherwithISBN/ISSNnumberasapprove

^{*} Wherever relevant to any specific discipline, the API score for paper in refereed journal wouldbe augmented as follows: (i) paper with impact factor less than 1 - by 5 points; (ii) papers withimpact factor between 1 and 2 by 10 points; (iii) papers with impact factor between 2 and 5 by 15points; (iv) papers with impact factor between 5 and 10 by 20 points: (v) papers with impactfactor above 10 by 25 points. The API for joint publications shall be calculated in the followingmanner: Of the total score for the relevant category of publication by the concerned teacher, the First and Principal / corresponding author /supervisor / mentor would share equally 70% of the total points and theremaining 30% would be shared equally by all other authors.

- d byuniversity:30 per book for singleauthor
- SubjectBookspublishedbyNationallevelPublisherwithISBN/ISSNnumberorState /CentralGovt. Publications asapproved byuniversity:20 per bookfor singleauthor
- SubjectBookspublishedbyotherlocalPublisherwithISBN/ISSNnumberasapprovedbyuniver sity:15 per book for singleauthor
- ChapterinBookspublishedbyNational/InternationallevelPublisherwithISBN/ISSN numberas approvedbyuniversity:

International -10 per chapterNational - 05per chapter\

Teacher-wise list of publications -JOURNALS

Sl. No.	Title withpageno.	Journal	ISSN/IS BNNo.	WhetherpeerRe viewed Impactfactor,ifany	Author
1	Book chapter ISBN 'Bahumatrik Rabindranath: Natun Bhavna' Edited by Dr. Prabir Kumar Pal Dr.Arijit Bhattacharya Dr.Arindam Adhikary Fast published: second November 2022 Page no 163	NA	Book chapter ISBN - 978-93- 92283- 09-3	NA	Essay -Rabindra-Srishtir Ekti Bishe Parbo: Swades Bhavnar Jagoran b SUKLA BANERJEE
2	Essay-Rabindranather Shikha Bhavna o parivesh chinta by Sukla	Journal 'Ajker Jodhan' Editor-	ISSN- 0871- 5819		

				,	
	Banerjee	basudev			
	Page no 05	Mondal			
		40 years			
		Vol.40.n			
		0.3			
		May-			
		June,			
		2023			
		2023			
3	Essay-Rabindra Bhavnai		ISSN-	NA	Essay-Rabindra Bhavnai Hindi sahity
	Hindi sahitya by Sukla		2495-		
	BANERJEE	rekantar	<u> 1846</u>		
	Page no 06				
	l age no oo	Editor-			
		Auroop			
		Acharjo			
		33 years			
		48			
		number			
		May-			
		June			
		2023			

(C) RESEARCH PROJECTS- N.A

III(C)(ii)ConsultancyProjects:

N.A

III(C)(iii)Projectsoutcome/outputs

ForScience: Patent/Technologytransfer/Product/Process: N.A

(a) For Arts: Major Policy document prepared for international bodiesWHO/UNO/UNESCO/UNICEFETC.)/ Central/StateGovernment /localBodies

N.A

III(d) Fellow ships, Awards and Invite dectures delivered inconferences/seminar E. (i) Fellow ship/Award:

E.(ii)InvitedLectures/paper-

Sl. No.	Title of the invited lecture /paper Presented	Title of Conference/ Seminar with Date	Organized By	Whether International/ National/State or University
1.	Rabindranather Srishti O Nirman: Kal theke Kalan tore,	06th MAY 2022,	Department of Bengali (U.G. and P.G.) Mankar college,	NATIONAL
2.	.RABINDRO BHAVNAI HINDI SAHITYA,	5thand6th August,2022	Department of Bengali ,Hindi,Engli sh,Sanskrit, Santali(U.G. and P.G.)	NATIONAL

	Mankar college	

	III(F) Development of e-learning delivery process /material				
Sl. No.	Title of the Module	Course/Paper for which the module was prepared	Year and Dateof presentation		

Declaration

All above furnished information and claims are true and supported by necessary documents wherever required.

Signature with Date:	•••••
Sukla Banerjea.	
List of Enclosures:	
1.	
2.	
3.	
4.	
5.	